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Primary 6 Weekly Plan

30 March - 3 April

Mrs Ladipo
said that her
husband went
on leave the
previous
month.

My brother
said that he

Topics for Tuesday Wednesday Thursday
this week
Mathematics | Solve Vocabulary: Vocabulary: Vocabulary: Vocabulary: Vocabulary:
problems fraction, lowest | mixed capacity weight time, speed,
involving form equations, distance
fractions, BODMAS Activity: Activity:
BODMAS, Activity: Convert the Convert the Activity:
capacity, Simplify the Activity: following following Find the time
weight, and following Solve the figures from figures from for the
time. fractions to following mixed | millilitres to kilogrammes to | following if
their lowest equations using | litres. grammes. Speed = S and
form. BODMAS. Distance = d.
3 000ml
20 (36 +6+4)x9 | 7000ml S =40 km/h
gg 3x(25+5+1) | 4000ml 29.517kg d=1640 km
= (7x5)-13 5 000ml 30.002kg
65 2.25x(3+4) 10 000ml 6.739%g S=12m/s
85 (8+4)-2 7.588kg d=672m
32 25.320kg
18 S =60 km/h
56 d=2700 km
S=15m/s
d=1425m
S =80 km/h
d =960 km
English Identify direct | Vocabulary: Vocabulary: Vocabulary: Vocabulary: Vocabulary:
Studies and indirect direct speech, narrative essay | antonym introduction, simile,
speech, indirect speech topic sentence, | metaphor
antonyms, Activity: Activity: conclusion
similes and Activity: Write a Write the Activity:
metaphors. Rewrite the 3-paragraph antonym for Activity: Identify
Write essays | following narrative essay | each of the Write a whether the
with sentences as about “A day following 3-paragraph following
introductions | indirect you will not words. essay of at sentences are
and speech. forget.” least 300 similes or
conclusions. east words with an metaphors.
Ali said that he enemy introduction
was in Sokoto loss and a Your brain is a
the previous midnight conclusion on computer.
day. bride the following
prompt. The child is as
George said innocent as a
that he had ‘Which is lamb.
travelled to better: a story
Calabar the or a poem? Her hands are
previous week. Why?’ soft like rose
petals.

The stars are
sparkling
diamonds.

The girl is as
sweet as
sugar.
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walked to the

He is a lion in

river this business.
morning.
The girl said
that she had
cycled to the
church the
previous night.
Basic Answer Vocabulary: Vocabulary: Vocabulary: Vocabulary: Vocabulary:
Science and | questions simple inclined plane planet, orbit, force, friction basketball,
Technology about simple | machines satellite hockey
machines, Activity: Activity:
inclined Activity: Answer the Activity: Answer the Activity:
planes, outer | Answer the following Answer the following Answer the
space, force | following questions about | following questions following
and friction, questions inclined planes. | questions about force questions.
and sports. about simple about outer and friction.
machines. Define inclined space. List 3 things
plane. What is force? that are not
What is a List 5 planets allowed in a
simple What are 4 which revolve List the types basketball
machine? advantages of around the of force and game.
an inclined sun. explain them.
Name six plane? In a basketball
types of simple What is an List 4 game, how
machines. What are 4 orbit? examples and many steps
examples of an evidences of can you take
What is the inclined plane? What is a star? | force. without
most efficient dribbling?
simple How are What is the What is
machine? inclined planes distance of the | friction? In a hockey
helpful in foot earth from the game, when is
A seesaw is an | bridges? sun? The effects of a free hit
example of a friction can be awarded?
What is a either or
satellite? And List 3 things
why is the that are not
moon called a allowed in a
satellite of the hockey game.
earth?
Reading African African African African African
Assignment Storybook Storybook Storybook Storybook Storybook
Amara and Anansi and Clever Brother | Counting Drought and
Animals Vulture Cabbages the River of
Blessings
Homework Revise #3 Revise #10 Revise #15 Revise #19 Revise #30
Assignment
Homework English Verbal Verbal Verbal Verbal
Answer 1. too Reasoning Reasoning Reasoning Reasoning
Keys 2. too 1.B 1.A 1. UNTSKR 1.D
3.to 2.C 2.D 2. RPELYA 2.C
4.to 3.A 3.C 3. DEARTH 3.B
5. too 4.C 4. A 4. ECERTA 4. A
6.to 5.B 5.C 5. RCEEIVC 5.B
7.to0 6. ALINRBJ
Quantitative Quantitative 7. EDISTUO Quantitative
Mathematics Reasoning Reasoning Reasoning
1.C 6.D 1.720 1.37 Quantitative 1.4
2.CT7.A 2.9 2.17 Reasoning 2.7
3.A 8.B 3.8 3.0 1.5 3.15
4.C 9.A 4.3 4.27 2.2 4.61
5.B 10.B 3.23

Social Studies

Social Studies

Social Studies



http://africanstorybook.org/reader.php?id=14479&d=0&a=1
http://africanstorybook.org/reader.php?id=14479&d=0&a=1
http://africanstorybook.org/reader.php?id=996&d=0&a=1
http://africanstorybook.org/reader.php?id=996&d=0&a=1
http://africanstorybook.org/reader.php?id=19414&d=0&a=1
http://africanstorybook.org/reader.php?id=19421&d=0&a=1
http://africanstorybook.org/reader.php?id=19421&d=0&a=1
http://africanstorybook.org/reader.php?id=22565&d=0&a=1
http://africanstorybook.org/reader.php?id=22565&d=0&a=1
http://africanstorybook.org/reader.php?id=22565&d=0&a=1

Social Studies
1.D
2.C
3.B

and Science
Revise

1. Accept
reasonable
responses:
Plasma is
important
because it
transports blood
cells, platelets,
and other
nutrients
through

the body. It also
maintains blood
pressure and
chemical
balance of the
body.

2. Accept
reasonable
responses: This
makes the body
sick / lowers
the level of
oxygen in the
body.

3. Accept
similar: Lagos is
an important
centre of
international
trade because it
has the largest
economy of all
of Nigeria’s
states / it has
ports for
international
trade that Lagos
State

relies on.

and Science
Revise

1. Mohammed
and Sofiya
should receive
a marriage
license

after the
wedding.

2. ltis to show
his relationship
with Maria is
serious / that
he

is interested in
marrying her.
3. The bread
goes from
Melanie’s
mouth to her
oesophagus,
stomach and
small intestine.
The nutrients
are taken in by
the blood and
the rest goes
to the large
intestine to
leave

the body as
waste.

Social Studies
1. Yusuf
speaks Kanuri.
2. Kanuri
people rely on
animals for
food and to sell
as

products. They
sell cowhides
and goatskins.
3. Polygamy
increases
family size
because there
are multiple
wives who can
bear children.

and Science
Revise

1. Accept
reasonable
responses:
Something is a
mixture if it has
two materials
together and
one material
does not react
with the other
or get
dissolved in the
other. Materials
must

dissolve to
make a
solution.

2. The sugar
dissolved in
water.

3. Water
pollution would
hurt the ljaw
community
because

they get most
of their food
through fishing
and floodplain
agriculture.




